B

L

\i/‘i%

12 8 o N AT x 4 —MEE 3 7 05 B5K - BEREFE (ERREEM  REET
T H £ &2 4—A140—-%2
T % 5 Br  AEmERE
Bl AL o H B  Fpk264 9H18H 1584 0%
ZH(FE)H TRk 2 64 9H25H
T H ERk264 9HA26HEMNLYER27HE 3H25HFT
2 N L o fE E A fEBLABFEAL
3 & #H & # 7, 290, 000HM (HEBZEHKZ 6, 750, 000MH)
4 ¥ E M % 7, 290, 000M
5 AL E Lb 62 4% 6, 750, 000M
6 fx 1% H R Al % 6, 026, 4000
7 AR PR AT A 5, 580, 000M
8 % L o H & FH
9 EH E DK & ﬁilé%:?UVﬁ%ﬁﬁﬁ
10 % fL o & % 6, 026, 4000 (YEBiI%Hkx 5, 580, 000M)
5 1 [ AFL A AL = 5§ g2
m m KEZD=T VU o THAEFE
5, 580, 000 Ml fERe
HASHIRa o
5, 580, 000 HHE #®
FPERR AR S A
5, 580, 000 = Ea—
Y R A
5, 580, 000 BH
HWAESHT —Fas ¥z b
5, 580, 000 mH AR
HXEet=Ffn=o ¥z b
6, 750, 000 SEH 3CH
Bt =t V=7
6, 750, 000 (LE
HwXE&tar s aryrr b
6, 750, 000 OB
REFEA 24
5, 580, 000 FiF BHZE
BRXAatyr— -z 2a ¥ rx s b
5, 580, 000 LR HIfE
Ny THEfa L F v M EER S
5, 580, 000 VI
St THiff a2k
5, 580, 000 i ER
HREetEmER A2 b
5, 580, 000 HHE O OFA
RS R B G 5T
5, 580, 000 HA B
HRXEetT L7 R
BB B EA
MRS 4 X7 v
6, 750, 000 FHiE AR

7= BIR TR RSB




i L

\i/‘i%

¥ T * 4 RENE3 7 05 B - ReEZfTe®E CERREEEM  REHEE

T = K 5 4—A140—-%2

T F % pT TfkmERHE

Bl #L o B B FERk2 64 9H18H 15”4 0%

BEK(TFE)H TRk 2 64 9H25H

T O FRL264F 9H26HMNLER2 74 3H25HET

2 AN o fE OHE

fad g AL

3% i & M

7, 290, 000 (HEBSKE

6, 750, 000H)

4 F E MM ¥

7, 290, 000M

5 AL FE B i 15

6, 750, 000

6 #x X il Rl %

6, 026, 400

7 BRI R L AR

5, 580, 000M

8 % o K E® K
o K V=7 v 7R E&tt
9 WA FHF DO K 4 L

10 % fL © & #

6, 026, 400M (HEBISHKX

5, 580, 000M)

EFEDN;!

L

[iS %

=]
9, 680, 000

A
E MR R PR U At

IS S

7= BIR TR RSB




